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Question 1

Question Type: MultipleChoice

You are the Administrator of a Windows 2000 based network for Info Tech Inc. You install and configure Certificate Authorities (CAs) on
the network. You are currently configuring the public key group policy for the domain.

You configure the group policy to specify automatic enrollment and renewal for certificates. But when you attempt to test this
configuration, you find that the enrollment is not working properly.

What is the most likely cause?

Options:

A- The group policy is not enabled for the domain.
B- You failed to add the CA certificate to the trusted root certification authorities container.
C- Certificate enrollment and renewal is not enabled for the group policy.

D- An enterprise CA is not online.

Answer:

D



Question 2

Question Type: MultipleChoice

Which of the following is NOT an input of the Administer Procurements process?

Options:

A- Contract

B- Requirements traceability matrix
C- Procurement management plan
D- Procurement documents

E- Work performance information

Answer:

Question 3

Question Type: MultipleChoice




Which of the following wireless standards has a transmission speed of up to 720 Kbps?

Options:

A- |IEEE 802.11a
B- Infrared

C- Bluetooth

D- Wi-Fi

Answer:

Question 4

Question Type: MultipleChoice

Which of the following blocks unwanted advertisements and small windows that pop up suddenly in IE, without user's initiation?



Options:

A- Phishing filter
B- Pop-up blocker
C- Content Advisor
D- Cookies

Answer:

B

Question 5

Question Type: MultipleChoice

SSH is a network protocol that allows data to be exchanged between two networks using a secure channel. Which of the following
encryption algorithms can be used by the SSH protocol?

Each correct answer represents a complete solution. Choose all that apply.

Options:




A- DES
B- Blowfish
C- IDEA
D- RC4

Answer:

A B, C

Question 6

Question Type: MultipleChoice

Nancy is the project manager for a new construction project. There are several occupational safety codes, which must be included in the
project requirements. These requirements are nonnegotiable and the customer must pay for the safety measures, inspections, and
training for the project team. What term best describes the cost associated with these safety requirements?

Options:

A- Cost of quality



B- Cost of doing business
C- Cost of risk avoidance

D- Cost of risk mitigation

Answer:

A

Question 7

Question Type: MultipleChoice

Which of the following is an authentication protocol used by clients to dial-in to computers running Windows 2000 Server?

Options:

A- WA

B- Digest authentication
C- MPA

D- SPAP



Answer:

Question 8

Question Type: MultipleChoice

During which of the following processes, probability and impact matrix is prepared?

Options:

A- Perform Quantitative Risk Analysis
B- Plan Risk Responses
C- Monitoring and Control Risks

D- Perform Qualitative Risk Analysis

Answer:

D



Question 9

Question Type: MultipleChoice

Mark works as a Network Administrator for NetTech Inc. The company has a Windows 2003 Active Directory domain-based network.
The domain consists of four domain controllers, six Windows 2003 member servers, and 500 Windows XP Professional client
computers. The PKI infrastructure is already configured on the network. The current configuration of the network allows only managers
to use EFS on local computers. Sometimes Mark faces problems when managers lose their private keys due to the user profile
becoming corrupt or being lost. Due to this, the files that were persistently encrypted by using the corresponding public key are
inaccessible. He wants to restore access to the encrypted files as quickly as possible. What will he do to accomplish the task?

Options:

A- Ask the managers to log on to the network with a new user account.
B- Rename all the encrypted files and ask the managers to open the files.
C- Configure key archival on certificate authority (CA).

D- Ask the managers to use the Distributed file system (Dfs) to encrypt important files.

Answer:

C



Question 10

Question Type: MultipleChoice

Which of the following algorithms can be used to check the integrity of a file?

Each correct answer represents a complete solution. Choose two.

Options:

A- sha
B- blowfish
C- md5

D-rsa

Answer:

A C

Question 11

Question Type: MultipleChoice




Which of the following methods will free up bandwidth in a Wireless LAN (WLAN)?

Options:

A- Deploying a powerful antenna.
B- Change hub with switch.

C- Disabling SSID broadcast.

D- Implement WEP

Answer:

Question 12

Question Type: MultipleChoice

Which networking protocol is used to authenticate users or devices before granting them access to a network?



Options:

A- IPSec
B- PAgP
C- RADIUS
D- SRP

Answer:

C
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